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3apaya 1. Hanumure ypaBHeHus1 KacaTeJbHOM MJIOCKOCTH ¥ HOPMaJIM K 33/JaHHON NIOBEPXHOCTH B Touke M.

1
1. z—%arctgg“O, Mo(l; 1; g] 1. 5.("/;""‘\/;"‘\/;):1:1‘40(1; 1 1). 21, x* +y’ +2" =169, My (3; 4 12).
x oy 22. z=xtg£,Mo(1; . 1].
2. ytg M ( ik aj 12. 27 +27 =8 M,(2; 2; 1). 2 2
3. sinx-cosy =z, M (E- T 1) 1 z—2x+ln%+1=0, My(1; ;1) 23, z=x"-2ay+y’ ~x+2y, My(L; 1 1).
N4 472 RN 24, x? +2y? -3z +ay +yz -20z +16 =0, M, (1; 2; 3).
4 z=e" -cosy, My(1; m; —e). 14. ?"'?*Fﬁ—l My, 0; 4). 25 2® +y? -z +ay -yz+2x2 =2, M,(1; 0; 0).
5. 2.'3 —4.12+y2 -4 =0, Mo(l; -2 2) 15. z=1+x2 +y ,M0(1' 1: 3) 26. x(x—y)+y(x—z)+z(x+y)—2=0, Mo(l; 0; 1)
6 z—ysln® ML 1 D, M 27, x4y’ +ay—yz+2d +az =3, M,(L: 1 0).
y 16. z=e¥ +e7 —y, My(0; 1; 1). 28. x +2y® +3z% +2xy + 2xz + dyz =6, M,(1; 0; 1).
z=arctgg, Mo(i; 1; EJ' 17. 22 +y?—2' =—1, My(2 2 3) 29 x’+y 42" -y =1 My(%; 1; 0).
18. z=arctgX, M [1- 1. ﬂ) 30. x®+y’ -z +3ay +3yz -2z =4, M,y(L; 1; 3).
- &= ’ 0 y Ly — |-
8. z=In(x? +y?) M,(1; 0; 0). y

9. (y 4)(xy 2)=-8 My(2; 1; 3). 19. z*+4z+x% =0, M, (0; 1; —4).
—x% +y?, M,(1; 2; 5). 20. x2+y?+22 =3, M,(1; 1; 1).



